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Ig = + +(b-b, )t (h— 1, — + b, h(y, ——

_ (1400-350)125 L 350(620)° 125
12

Ig

I=1.3474 x 10" mm*

EBLE FINPRY
Y JCQA+1.f)+1+f) —(1+f)
C
J0.01526(2% 560 +125%8.45) + (1+8.45)> — (1+8.45)
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0.01526
a= 106.1§t —> 58 aslizel Lt dal,
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d3
ICr:b.?+nAs(d—a)2
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o= 1900d06.” 22940(560 —106.1)> = 5483x10° mm*
Ma=f I /y = (2.68x 1.3474 x 10'°) /426 .7 x 10
Mc, = 84.6 kn.m M, = 150 kN.m
L=Ie + (Ig- I ) (Mce/ Ma )’
6 10 6 84.6 5 6 4
le= 5483 x 10°+ (1.3474x 10" = 5483 x 10°) ( =) => I.=6917x 10°mm

ST or Joo Jelats glale O g 4 54U 0l 03¢ (e Olee b)) [ = Tt
Y=620/2=310 mm

I,=350 (620)’ /12 = 6951 x 10° "
TRt P

B=350/34820 =0.01005 r=(n-1) A’s/nAs =9558 /34820 = 0.2745

oy

bw nAS

+(1400-350)125 (620~==~ 426.7)* + 350% 620(426.7 —

620
2
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M, = fle _(268x6951x106 |
y, 310
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3
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= L M, - 00) (M, M)
™ 48EI 0 "™ oo
_ 5(7800)>
™ 48%0.2x10° x6218%10°

[150-0.1(208+208)] x10°

An=5.5 mm S5 e Loy 5303 b ST 5050 b 51 ab ST S i

¢ ke iy IS8 oni s L6

At=)\Ai
= 5 P 5 5:2
1+50p
,0,=0 Glas bwy s = /I:L=2
1+0
JAVEE: OELL L) 053 5L 20% + 05,0 4L 51 36 ST IS s
A =?

W= Wp+02WL=164+0.2(32.8)= 23 kN.m

oL Jf el Wr=Wp+W =164 +32.8=49.2
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M, =M, =-""(208)=97.2 KN.m
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'p = 5(7800)°
" 48%0.2x10° x6218%10°

A=A, = 2.6 mm
A=ANA=2x%2.6=52mm
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STHG
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(Oode s S i+ ST IS8 i) = IS8 i S
Arei=5.5 +52 =107 mm

CM‘GJMS‘J"&L&J‘}&}Q)}J#L&/V' QT}M\JQJJAJL/V' Jﬂwww“vﬁ.{@fﬁ

W'p=0.7Wp=0.7 (16.4)=11.5 KN.M

LS 5 5)2103 mm
49.2

A”=bﬁMdL&J‘xbbd&b)wTw@‘ﬁﬂgﬁﬁfﬁ
A"= Atot -1.3 =10.7-1.3=94 mm

L/480=7800/480 = 16.3

A"=94 mm < 16.3 mm
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